HAFE2S CEFERALER)

RE - HIETE

(U>ZETiED

(Bfr: FH, %)
F E AREE| AIEE
X 4 (hE) | (rwE) AEE | THBS0EE| T F/E| Ema2EE| ERI3EE | ER34EE| TRissEE | a6 F | ERITEE | ER38EE
1 % Uy = (A 7414] 14,283 12,733 12,170 11,325 11,325 11,366 11,366 10,052 8,445 6,375 6,374
1) =B E3 1z % (B) 7,179 6,655 5,974 5,233 4,185 4,185 4,226 4,226 4,226 4,437 4,437 4,437
i 7 # & Uy A 3,902 4,006 4,033 4,185 4,185 4,185 4,226 4,226 4,226 4,437 4,437 4,437
g 4 2 ®F I F X % © 3,277 2,649 1,941 1,048
IR D % ) i
mial (2 = E3 Ay Iz Eny 235 7,628 6,759 6,937 7,140 7,140 7,140 7,140 5,826 4,008 1,938 1,937
7 M = i B A = 235 7,628 6,759 6,937 7,140 7,140 7,140 7,140 5,826 4,008 1,938 1,937
i ik D) o
" 2 & & FH (D) 7,414 7,260 5,687 5,495 5171 4,873 4,606 4,288 3,974 3,929 3,746 3,629
1) =B E3 & H 4,077 4,319 3,124 3,290 3,290 3,290 3,331 3,331 3,331 3,542 3,542 3,542
1z | e 7 B g8 & 5 &
=% 5 5 B B F H
X |8 14 % ) fth 4,077 4,319 3,124 3,290 3,290 3,290 3,331 3,331 3,331 3,542 3,542 3,542
X[ & E3 vy & H 3,337 2,941 2,563 2,205 1,881 1,583 1,275 957 643 387 204 87
i 7 X i F J5 3,337 2,941 2,563 2,205 1,881 1,583 1,275 957 643 387 204 87
CesE—BEASHE
14 % ) #h
3 In % = 5l (A)-(D) (E) 7,023 7,046 6,675 6,154 6,452 6,760 7,078 6,078 4516 2,629 2,745
1 & ZS 5] 1Y A (F) 10,651 3,397 3,044 2,880 2,676 2,676 2,676 2,676 2,374 1,956 1,481 1,480
(1) Pl &
& 53 5 &8 X & F # & @&
| (2) b = H H Bl & 9,616 2,362 2,009 1,845 1,641 1,641 1,641 1,641 1,339 921 446 445
& Bl (3) 4 = it & A &
W@ B & &8 2 & # K 2
MG _H (B & W B ) W B &
(6) T S 5l bi| &
3] (7) % ) #h 1,035 1,035 1,035 1,035 1,035 1,035 1,035 1,035 1,035 1,035 1,035 1,035
2 & X g 53 H (G) 10,651 10,420 10,090 9,555 8,830 9,128 9,436 9,754 8,452 6,472 4,110 4,225
Bl M 2 = % B B
% | & 5 5 B B # 5 &
Bl (2) Pl & 5 = £ (H) 10,651 10,420 10,090 9,555 8,830 9,128 9,436 9,754 8,452 6,472 4,110 4,225
X3 Mt EHEASEZEE S
B @) ® = i ~ 0O & & =
(5) * ) it
3 Iy % = 5l (F)-(G) ) A 7023 A 7046] A 6675 A 6154 A 6452 A 6,760 A 7078 A 6078 A 4516 A 2629 A 2,745




HAFE2S CEFERALER)

RE - HIETE

(U>ZETiED

(Bfr:FH, %)
F = BIREE| BIEE \
X 4 (rE) | GrE) AEE | THBS0EE| T F/E| Ema2EE| ERI3EE | ER34EE| TRissEE | a6 F | ERITEE | ER38EE
R %X /B = 5l (E)+(I) J)
& 3L & (K)
MEEMDRBE (L)
MEERLETERS (M)
2 = W =X (D)-(K)+L)-(M)  (N)
B E EA~NBY B TR F B RO
£ B It X|E F (P)
(N)-(0) O F (Q
— = (Q
* F o oE ( By X100 )
IR 2F B9 UN X L 3 ( (D()/:()H) x100 ) 410 80.8 80.7 80.9 80.9 80.9 80.9 80.9 80.9 81.2 81.1 81.2
RAHBERA SR CEFINLIRELE
& & o> = el
B EIE - FHEIENRE B)- (o) (S) 3,902 4,006 4,033 4,185 4,185 4,185 4226 4226 4226 4437 4437 4437
fg’ 7% E’TT B‘E’f@“ s § (R)/(S) X 100)
BeibERITREI6EICKYETELS: M
& £ ) z 2 %8
BeLEETHAFEERICHETS )
iR B B8 B & X R &
3 AN & “‘ k o
g@ﬂ;&;@ “%0) *I= ﬁ;ﬁﬂ’;ﬁ ) 7,179 6,655 5,974 5,233 4,185 4,185 4,226 4,226 4,226 4,437 4437 4437
géﬂ:éf;ﬁ;g (EJ:LJ%ISEL; ((T)/ (V) x 100)
Hh £ B OB A £ % 5 (W)
ih Vil & 5% = (X) 90,472 80,052 69,962 60,407 51,577 42,449 33,013 23,259 14,807 8,335 4,225
Oh=EHEAE (BHi:FH)
& E3 BIREE| AIEE
B | TR0 | TR | F A2 | SE 33 | T ARB44E | F RL354E B | FRL36 4 | S H3 T4 | 38 [
X 4 ()| (mE) REE |TRS0FEE| TR FEE| EMi2EE| ER33ERE | ER34FERE| ERSFE | TR6FEE| ERMITEE| EMIsEE
R & 8 ] X % 3512 10,277 8,700 7,985 7,140 7,140 7,140 7,140 5,826 4,008 1,938 1,937
5 b5 BH E RN B AE 3,277 10,277 8,700 7,985 7,140 7,140 7,140 7,140 5,826 4,008 1,938 1,937
55 E E N g A& 235
E AWM R X H 9,616 2,362 2,009 1,845 1,641 1,641 1,641 1,641 1,339 921 446 445
5t EERNKE AR
55 H E N B AS 9,616 2,362 2,009 1,845 1,641 1,641 1,641 1,641 1,339 921 446 445
& 5 13,128 12,639 10,709 9,830 8,781 8,781 8,781 8,781 7,165 4,929 2,384 2,382




